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1) Which one is the correct sentence?

1) He is good today than before.

2) He is best today than yesterday.
v 3) He is better today.

4) He is comparatively better today.

01T : Better X well 32 good - U3 comparative form | SR better - O3 9&
comparatively @WK comparative JJ good and best IR o | 37011 S AT
X - He is better today |

2)F A =8:9, Y8 5T=50 9P Y 5T PO AJ?

1)8» :9q0 :80
v 2)80 :90 :8»
3)8» :80:90
4)q0 .85 :80

A : <P Y =8:9=80890
Y551 =50:9=9088»
O , g Yg 5T =80 .90 .8a» AL

3) ' PO (ol ' The best translation is-

1
v 2
3
4

Don’t try to do anything again and again.
A jest driven hard, loses its points.

The lemon becomes bitter if it is rubbed.
A hungry fox is an angry fox.

S~— N N N

AT 2 (E] IHACE (DT TR @FICAT g IRAK A AFHIT GioT AR AiRERST e
(TG 2| 2MG J1EAT IRPYOA 3K TG I : A jest driven hard, loses its points |

4) m-n =X 932 mn = 6x2 XA M3 - n3 =97

1) 19x2
v 2) 19x3
3) 18x3
4) 18x2



A - We know,

m3 _ n3

=(m-n)3>+ 3mn(m - n)
= x3 + 3.6X%.xX

= x>+ 18x3

= 19x3

5) A28 \3 PR IR 57 Ve T2 | AT \3 AT IAGH 57T 20 I2J | TSI ITH DS I8 A
PRI ITSH TO7?

I : ¢f], 32, SR 3 rEeR WA R, K8 H
R+K=35%x2=70....... (i)
R+H=20x2=40....... (i)
| 32 (A i 32 SRR Rienst I M3, K - H = 30

=>K=30+H
=>K =30+ 11 [ T899 11 2]
=>K=41

6) Ny QBT IO 3T HR @& | IEARGT AL TGRS T ORK \3Gd 7GR q (BE|
NISKIRISSAC R E Gy

1) 2 @K
2) ¢ @K
v 3) @
4)> @&

QAT : STESYT AT + IO \IT = d BS
LT A + IR 3T = A @G

LT AR 3T = ¢ @G

S AR 3T = @ xR = Y0 @G

1T IER5T BT = HR - Yo = L @G|

7) RS TRSemred oSt S1R1?



v 4) TR

14T ; TS fetices Sk aRefR e qrsificedn 503 g “fkifow | e Soranfod
TSRS APBEAR STIERBICA | GTOT GHARNG IHTH SRS FATGP ACST IR Te] TR
WP AGIER BTN |

8) ITPRICH APD aATH F1?

AT : PRCPRICH APD T TR PO WIS PP |

9) (sin® + cosB)/(sinB - cosB) = 7 AT secH AT T PO?

Yz {(sin © + cos 0)/(sin® — cos 0)} =7
=> {(sinB® +cosB +sinB —cosB)/(sin® +cosO —sinB +cosB)} = {(7+
1)/(7 - 1)}

= > {(2 sin 0)/(2 cos B8)} = (8/6)

= > tan 6 = (4/3)

= > tan?6 = (16/9)

WKK, sec?60 = 1 + tan?6

=1+ (16/9)

=(9 + 16)/9

= 25/9

m.sec 6 = v(25/9)

==x5/3

10) AIREATCR AV ITRCEAD 1S & @TAD?



T ; ForMeTeT feret IRATRT (AT (P IR ffas uafb 3TREE RS 6P TIgsvaTd /e |
WD ISP (WP TORTS AT TSTETA 216, AT J1RE IR BFTE SR BT AMITR

SR &

AT : JGAIE FEITOT TG I 8 TR HAAY | IFFF HA GTT HAb-q ATG SRS DIy
PR SRR I3 TR 31 0 AR5 N0 5K | 0 SRR PRSP 2 8 /1B, dAbd IR
A (AT AR IR “MMeTd IR Sy FWMIRTA (D - 5A99) |

12) 1AM & S SHRIT?

AN = R W S WA G \3 TG AT T \3 IR @A 5% W DI A& S I |
TEINE FeTo P N0 FNHRR | PO 1T TG % FeTo Hahodd I TR T AP | 8 +
P (F - F) = T I % 2, TRT @B IR PGS 53 053 2196 I T | (TF
HNO/5BNO = 5T + SO

13) I3 AR JOoI PP PO A?

1) 13sf 9
2) 2 I5f 9P
v 3) n 5 9P
4) 235 9T

AT : GBI IO CFATSA= 1 12
= (1)?
=T J57 9.

14) P <0 APRG \3 AR

1) Vo0d + 30
v 2) VT + TIA



3) VAId + 5
4) T + AT

A : TRFS P - AOR “TAR' QNS 513 AT XTI 2PTS - AR v T + WA | AT v F +
W:W%, /ﬁ’ﬁf+@ﬁ‘§[=wa‘§fl

15)IM ax = b, by = ¢ 3% cz = a WO xyz U9 T PO II?

2
1

1
v

w N
N N S~

-1
-2

I

I :IMax =b, by =c W cz=ad,
O, x=b/a , y=c/b , z=a/c
xyz= (b/a) (c/b) (a/c) =1

T 2 TP DI - &K RoRIER Snagal kR {9 e <= 5y 70 e *R™1< ARG |
I - I AT, [T > T FoPme> ForP )

17) “onfq’ =< 2 o<T Q1ain?

AT 2 AT /S X AL XX . qY, W, A, 1, HeTet, 1R, S7p, 217, o/18 ,(ord, 21,
IR | ARG T - SR QIR AT DY - oM |



AT - AR BT HRITHT LA T | PTG T SO A, R e, ToAet, v, g
AN |

19) ST P (P RAF ©IOT BTey R7?

AT : AT OO TRFH SF T donq - b WATH 5 O 616 2 Afoe dovb 5 |

20) b, ), ¢ QIR DR SRYNMBCEA] KT (T S DI ST FUTP B AP ICAZ?

AT 2 bb = IXRIXIXDD

» = AX S0

DE = EXOD

P = VX O X O

SOATL bbr - A7 ST B AT ICE |

21) AR RS Polb SR 9H6?

JTATT = 1T \3 3R O I1EIeR 512 [k 9o |

22) IS @14 IR0 B0 WP AR AATSd @372

CIRCIEG]
O

)
)
) 23T
) 1T

N —

4

w

4

AT : AT 2R ARG BT AT AT 2ACTG (3| ZRCPA AT ST B ( - ) ST
AR SMSCEAP WEAM PR FAER Sy AT 920 27|



23) (AL PICD PICO AR L 9 |

vl
2
3
4

The boy came to me crying.
The boy came to me in crying
The boy came to me by crying.
The boy came near me crying.

N— N N N

AT 2 PICO PIMCD, 2D 50, CIGICS CIGICS AR B present participle IR FACO
W iR verb + ing IXCO X1 | Come to somebody O BT FIZ. WIS | SO IRMIDI
5F ARM X« The boy came to me crying |

24) (@14 I S=?

N —

v

W

) TR
) T
) T
) T

AN : Ty (RO #1m)- §R00 0702 97, TN |

25) @TAD FeMId PR 5o Koo Brda?

1) o1 118 e R |
2) I3 a

v 3) "o ot m1g
4) TG 118 WK [R5 |

AT : P AT OF151 PR A1 , Dol SRS J0J1 BT X, OIP (RFD fACH) FeM1d FIRP I |
I T, T3 5T=oMTd PRSP [EFAR S B (71 T 203 TOR TP 23T IR B13 2T
IRT | T - FoURIE ToF1 73 | 2@ A1 A o Y 59 R @, @ @151 T

26) Hurry spoils .

1) to tarry

v 2) the curry
3) the work
4) and scary

AT : Hurry spoils the curry G310 2R/ | AT . BIGMOING @Il PTS ST 27 1|

27) | could not go for the examination due to rain.

v 1)in



2) on
3) to
4) by

AT = Go in for QR RSCATSIOR dTa1 | In QICST IRFT0L I1REAT TR PIRCT W AIPHR
ORISR PACH AT ol |

28) UFTT TARGIFR IMSME CFAPE oo ISTATR W3R 2% SV TR | 15T #fRire 30 fAoR?

AT = T SN, RO 157 O,
TS X 9% = CFav

= > S X DY = 800

= > QS = 800/>Y

-~ s = 3¢ TR0

AR = 2 (O + 27%)

= 3¢ + V)

=X 8

=b

29) {THILRT ISR AL FI?

1) 3@ qife

2) WAGTA

v 3) ORI
4) IR (TP

AT = GCHR G IR WY - TYFBTR | (FPe] A0 IR DY - IR @F | TP (TP
SRR WY - T Y | LT ISR DY - (ORI |

30) Had I riches, | ----- (help) you.

1) will help

v 2) would have helped
3) would help

4) had helped

4T : Had+sub+..... AP would+have+V3 [ |



31) SO PO FHRT WP IBR-G T YOI I IR ©reeT egfaea?

AT = RGO O] I21d WG AR AT WD D9a8 e ¢ G6T
SIRESRCTA SR ARECR 2508 AR I SRR AU IG0] ARTd PEA |

32) SR A7 (1 Iy J& ?
1) 2T, %
2) 4,

v 3)], Q&
4) @,

SR R R CEASIC

() 3T 27 T M9 Refs (38 Rofy) o 200 0| 94 . Wi + 7 = UK (©13), W +
O3 = AR (33) ZomfR |

() TTRRIBP AL FIE W IR> @1 [Oe & 2| 347 -

S + IR = WGPR > WGPA (PTG |

AR + PR = 2P (I041) |

W%+W=¢I‘I?1<PI.<] > PIAPI] > PIACPL] |

g T MR BB BY 7 TS &2 T& | @ - I + A7 = IIER | SHAT - (3 TG PR
|

33) fb M3 51 “1fJfe ¢ foR | > Rt oo AR <13 Qe 5116 TR gRR?

AT 1 GG 1Y = > [ + ¢oo f¥ = Seoo A
WOUJ BT B ‘{NN = )QOO/Q =\V00 {d.

34) log1g X = - 2 X X A< &9 90 AJ?

v 1) 0.01
2) 0.001
3) 0.002



4) 0.02

AT :log1g X =- 2
=>x=10"2
=>x = 1/100
=>x=0.01

35) QD TP GG STAPIT SR AT (rdf IATFCH 6 G113, 132 8 G, T cF e
IO AI?

v 1) 24357 .
2) 44 357 I,
3) 42 35 1.
4) 45 3s5( 1 .

AT : TEHT S,
AN fTore] CFapet =
(1/2) xSRI x TG

= (1/2)x6x8 IS G,

= 24 35 Gt

36) x2 + 1/x2 =3 (x® + 1)/x3 93 719 397

1) 3Vv5
v 2)2V5
3) 4V5
4) 5vV5



AT = 7T A,

x2 +1/x2 =3

(x)? + (1/x)? =

(x + 1/x)2-2.x. (1/x) = 3
(x+1/x)2-2=3
(X+1/x)2=3+2

(X +1/x)2 =5

X+ 1/x=+V5

(X8 + 1)/x3 = x8/x3 + 1/x3
=x3 + 1/x3
= (X + 1/x)3 - 3.x.1/x(x + 1/x)
= (V5)3 - 3V5
=5V5 - 3V5
= 2V5

37) The correctly spelt word is-

vl
2
3
4

Millennium
Milennium
Millinium
Milenium

N— N N N

I : Millennium =523

38) SFI MGG @1 SAMOA U FAF0?

AN : BPVA IBE WTO (World Trade Organization ) @3 S ¥4 | GATT §ie<
WP 1986 - 1994 S 218 b IZIAN TF S IOT WLADAR TS ex [y iy Sezw
SHAPPT UCH | ¢ FER S TIGIR WTO O3 5756 547 dws T o2 (amesnfasid sus &) |
@d BBGR S STARES 51281 I GRTRP 3 IMF |

39) "B XA FETHATD (@I (T AR FTIT 5176072
1)¥+4d

v 2)§+9
3) ¥ + B



4)3+%

AT : TF - RACAHK TRIHGHAIE T <0 A, J, § - A7 2[k JT ‘O’ INTO |

40) IILETTCT YT ST (EPZ) TR For0 27?

1) STON

v 2) b‘@‘sﬂﬂ

) ST
) JAT

w

4

JTAT 2 SobrO S FTSICH AU BfACSG B0 27 |

41) x-1/x=5 XA (x+ 1/x) 2 91 F1d fqf1 F©?

v 1) 29
2) 25
3) 28
4) 21

I : (N\3YT A,

X-1/x=5

T, (x-1/x ) 2= (5) 2

T, (x+1/x )2 - 4.x. 1/x = 25
T, (x+1/x) 2 = 25+4

@, (x+1/x )%= 29

42) x2-4, x2+4x+4, x3-8 IAMIARGF IR TS FO?

x+2)2 , (x3-8)
x2-2) (x3-8)
x-2)2 , (x3-8)
x2+2) (x3-8)

) (
2) (
3) (
4) (
MY OSFAMI=X2 - 4 == (X + 2) (X - 2)
WAMI== X2 + 4X + 4== (X + 2)2

0T ARI=x - 8 = (x - 2) (X2 + 2X + 4)
SALOTL B = (X 4 2)2(X - 2) (X2 + 2X + 4)
= (X + 2)*(x* -8)

43) RETATT (AT 5750 27 AP T (PIAID?
v 1) e



AT : IGHICA BT RPIINEA 50 T | 8 AGTK dvwo I RPIANP ST 9% ORI
PR (@ | AR FEAD O RPINRP (AP ST 27 AONRR IR 2[R QTSMT I | SR Y
(TG SO A TN ADIRR IR Dby HICE R W | BiAfPTd RO Ypwo S
ST 2 AR B dYd FICT R TTH | AHTERRT S9be S SWT 9 2GR I S
I PR W L GIPIETSIRPYT (IO Re%) S8 S 55T 9% AOIRR PR S0 HE
S[ARTT TSI A |

44) Five litres of milk is contained the pot.

1

) by
2) at
) in

) to

v

~ W

T : Be contained in something T GPIGAT fF%CS A b1 | In QST ARPIOA AT
STl <175 10 5y 2|

45) SIM AR’ AT ARSI 5791 3 foeeta?

1) IFIEE BTN
v 2) 90T VY

3) 2= Y B¢
4) TS TSP ST

I 2 I AGIA BT SRS B PG ARG qB Cicke LT SLAMT | Sb0d FCe
GBI TRF HIMa 21 afb 5167 20 3R A T2 2R/ dbron 5 aft aai tifae
SRIAMAA ABRG 2| Af53 I O APTTG AU AP SIM |

46) water of this lake is pure.

1
2
v 3

an or the
no article
the

a

)
)
)
)

I

TN : Material noun - U3 * the 367 1 58 @TcaT A iR 1 A e e1Ea omf
QRIS material noun - Q3 7fJ the I | 2T IRPIVCO [AME @A “MMfd @RICO water -
3 [ the I5¥J |



47) The word ‘adulteration’ can be best explained as-

1) to use unusual methods

2) to mix something intensely

v 3) to make impure by adding inferior ingredients
4) to mix poison

4N : Adulteration (Co®E ; WovfRT) ¥RfHP I PRT QO A to make impure by

adding inferior ingredients 711, ¥R adulteration WY X @11 BT QST FR
@I g 740 IR 2w |

48) 0% S FATRPTI 2000 BIPR S IRRA FATPT IS G1PT AJ?

AT 2 AT S,
FARPT = (ATH X I X SFA)/>00
= (R000X50x%3)/>500

=300

49) J1RETR 2ATBT BT TIFTASTG I TFT PIU 57?2

T : TSI TREIE BT (S FRSTE BTSN | IGT X2 (WP AT Yo 5. 5. TuE
FACORT dRK AT B (51T U3 XL KLHARCT (T T |

50) What is the antonym of ‘rear’?

1) Available

2) Not available
v 3) Front

4) Behind

4T : Opposite of the rear is -front
adjective (front ,foremost).
rear= forad



Front=3r1acd.

51) IREATCCT \3U1d (G FFRPC XTo0d FIE @1 (I RIS PR ?

AT 2 TR \3YTACS P ACO1 Tow0d T @ (PP 2RITGr0 P O ©R9 |

52) FeT SIS IR QP ID-

MY 2 T SRATSA P (Fo7P), AT SF, IS BF \3 R SF EPE < 12011 AN
I | TR AP oGP I | JIREHCT TN SRATS I (F59) BT DA S TETB ddd
W3R A I (U3 IR SR ST IS TR 2 |

53) 3 cotA = 4 A sinA Q< J1d 99?

QT 3cotA =4

= > CcotA =4/3

= > cot? A =16/9
ISR Sfd,

cosec?A =1 + cot?A
=1+ (16/9)

= (9 + 16)/9

= 25/9

" Cosec A = v(25/9)
= 5/3

= > sinA = 3/5



54) “of5TRT 93 Koo <=

—

~— ~—r ~— ~—

AR
IREEGH
WP
AR

2
v 3
4

AT 2 FROATNG R . SR - AP , STATR - FRPI6 , WA - [T |

55) ISR IR BTSN I ?

AN = TR IR J20H BTG - XA (STOHHET) IR FHOH B ACSE - IR
(ARIRITSIR) | TAFR AT JIBH GASE - STRIPR S A7 FHOH GG - AT , I |
IR J26H (S - ABTAND R SFHoE (Gl - ARTITSIE |

56) At the scene, mother arose in her.

1) a or the
v 2) the

3)a

4) no article

T : At the scene, the mother arose in her= PN &7 ,OR TS TOF TCO BXT |

57) “Leave no stone unturned” means-

1) heavy stone
2) rare stone
3) impossible
v 4) try every possible means

T : Leave no stone unturned= G3R P A1 (i.e. try every possible
means).

58) UPTD THARIR B9 TRIIG 51 CFAT P THAR IR QP-FORMR B[ NP0 3051
CHFAP U FOBA?

1) R4



AT = T B, 5 @0 s = x

U7 B2 AMFS A5 CFATH = X2

SRR QF - ORI (x/3) CFaP = x2/9
S X2+(x2/9)

= x2x(9/x?)

=9 &

59) ‘PORAY’ > JTHIP @TAL?

1) PO T2 IR [y
2) Fo @ f[im
v 3) o Ry |

4) o @ [

T : (@ FAC FAZAR [T \3 AR QY 1 IR, TS @IAT S QR 013 7B
ST | 72312 A FHRTO TR, IO IONMH X7 FHRIPIPC IITO 2 | (T - 32 IR (41)
WI(g TR-IZJR | (AU IR 5231 JR @IAITR2 S 214 (A3, TR I 419 AR JFF @D
QRNTCR) | 0 [T TR - PO |

AT ; ABTAIND (ST ©RO IR IR 70 GOTR ST 3K @29 | IBTAID RN J20
(ST | AP ARG U, SO I5Y [ | A3 (&1 fAaa) 3 ©Rw \ 76 (oo E1ar a7 5
QRS AT |

61) P9 =R gt #nfers =0 @1d ©rfkea?



AT+ SR I TG SR A 245 T2 ¢ T 7 1R st ofevaq Hrams

SRI0 |

62) ‘TRISMEA AISATIT IV CTUIP @72

TN : PRSI ATSATIST I5E, CT FFORA 2919 DT 57 FPeTd | 3052 TH FFORA T2
Db o TARIEDICO 130 IRFAT AFTG (WP APTNG |

63) Choose the correct answer:

1) He gave me good-bye.
v 2) He bade me good-bye.

3) He told me good-bye.

4) He wished me good-bye.

74T : Good - bye, good night, farewell 371 5 bid/bade verb UK W) GPICAT
verb @ o1 53T T He bade me good - bye |

64) SMOG T=-

1) AT

2) I

3) %mcati‘a CTa
)

v 4) {0 Jors

AT : SMOG WY AT FIPT W TR ST | IS FFPRATAR (IT- T FroPR_D
SAICAT PN \3 TP W AP TGS IR AT 312 PR SMOG | Qb 9P 4_CAK TG TS |

65) b3 @Td I @a?

1) DI IS TS, PIAT AT
2) 151G MR TS I8 AP
3) 1 ATiiRAIRT 7

v 4) K =eqo T



AT : F, U \3 5T WP D7 I35 JATECH -
PIET (Y T PIAT ST |

¥ emiafmy R e |

SIS ¥R P 7% AR |

66) GIAR BIFOT FIMK AT TS P12

MY ;G - TR OIFOT K TG AT PITHISTE | THER ST [T I AT TICADN
| ATOICER BT TR I dT8 ARIHOR | AT AT @9 Q78 TR Ik i faoese
T

67) | wanted the poster to

1) to be hanged
2) to be hunged
3) hang

v 4) to be hung

YT 2 23 WRT to AT ATPRI verb - 1< base form I3, KT to U9 9K verb - U<
base form I Hang QIS IS0 IS QAT (TFHRID IO GTATRET |

68) VBT TR TR CFawe w8 ISMADR 3L T 22 TR X THo! TG 7

1) >¢ BT
2) b BT
v 3) 38 iR
4) >3 fao™
QAT : DT Sfe,
fTRCOR CFATA=/2 X x Tl
A,RUB=D/R X3 X GBI
TOUT , BHBI=(W8 x2)/23=38 TR

69) "I I 1T TG G B |"— I T 2B IS PTG 2

1) s corEe
v 2) CTOTRI i3



3) AP
4) 70T T

A : TR AR ITG TR @ H(E- (ETOTPT 13, (@& Kol ST Wl FTHIR | IO -
SR APRORPRE | IS AT - ISR T ST 570,

70) IRACCR SR I5a1 SRADI QTG TR 7 2

TN : ALK STRETT AT BT a3 K S AfH T, FIHH @A Folffo
IR 08 SN QT PR 5199 T 2 | I3 BITVCD QPHIT FIK 57%5% [reta ISl 91|

71) 1 OINK 3648 50K 501 @72

T : IR B 3OS S IO - T, FZI XRFAIZ| ARE FAOR RS - FIIH ARG
373\ G N ARSI |

72) JIATPIP TP AAPIHI AU WK T A02-
SIESIES]

1) I

2) G WK
) 3P
) PO

v 3
4

I = A AR CT \ZFKEWUQH 3 YDA ST AP 3 §i0 |

73) Which one below is a correct sentence?

1
v 2
3
4

They have seen me yesterday.

| like his childlike simplicity.

The girl resembles to her mother.
It is | who is to blame.

~— N S S



T - AT correct sentence 27-
| like his childlike simplicity.

I TP SIS T -
They saw me yesterday.

It is | who am to blame.

The girl resembles her mother.

74) What is the appropriate meaning of Achilles’ heel’?

1
2
v 3
4

Important issue
Turning point
Vulnerable point
Main point

~— N N

AT : Achilles’ heel’= a fault or weakness that causes or could cause
someone or something to fail. So, the Vulnerable point is is the appropriate
meaning of Achilles’ heel’.

5) AT FRCANATREAR TS 12

AT 1 AT T & (R Wiead \3 [Rifeq <12 Soma «ifiiize a2 4 | acw7 foai
IR TGy @NEe BiRer AP RO 4h0aK TRk, TP I 27 f2eameania | a3 feawankcas
YT FTS LT CHAT (AP CRJ ] I WS TR AT |

76) THITO] Yo TRAH ) I AP’ BT TG I 0 Gd?

1)
2) 4
3) Yt T
v 4)8Y Td

2a¢ Gd



78) QISTAT X1 (PTAD?

1)
2)
v 3)
4)

foramT
o
AT
I

AT : QAISRPT X1 - ST >9fd (T 53pe] T 57991 IR AN “FSTHRK Q| 1 AT 1
RFTR @ 512 B | AMGT0 IeTC0 ISR <@ d1 IR S RO (TR0 5PTS 39 Imerepo)
QR | ATSJA, 27FG, ST, Gl ST |

79) SA <A @1 fersr?

AT ¢ A X Y SR, SRR, 550 | AR Fers S5 | 758 AR @iean e @31 sy
X BN o7 | STodTe 3P B6 (T) |

80) GPTAT TP XTH Jq?

1
4

N

) T
) o1
3) KT
4) 3>

AT 2 [ W IroTS | Y, TF, A<IP, D, TP 20T« I WS |

81) T PRI *7?

1)%
2) b
) BT
)

BTl

T4
TR

3
v

N

AT : 5T \3 BT TR GIEIK X | PRI ©NK WR\S PP XTI - AT, @G, PIRAT,
P, TgAT, ATEwITd, TPOITd, ZBTET | 517 2GRS <19 \3 H13%T1 18T <15 | BCa<ly, a7 - T
QIfR 1T OIER ATPAT QTS I3 WGIRN BT \3 BTERT TAFCH P \3 11 <1 |




82) What is the verb form of the word ‘friend’?

1
2
3

va

friended
Friending
friend
befriend

~— N N S

I : Friend (33) - W< verb form X befriend (3% I1A1CAT) | Be prefix QST AKS
I noun P 5115 verb e -

befool (KT TA1CAT);

behead (PRt 1) |

83) Which is the correct use of gerund?

1) | saw the girl dancing.

2) The girl came here dancing.
v 3) Dancing is a good exercise.

4) | am dancing on the floor.

A : Verb - U3 AV ing T& T I 03 Y verb W32 noun - U IS I O LD
gerund 11 Verb - Q< sub 9l gerund <20 R | 539<1R Dancing is a good
exercise I dancing T Gerund | STZIGT A I dancing participle i@
IR0 RAZ |

84) What you (do) at this moment? The correct form of verb is-

1) doing

2) do you do

v 3) are you doing
4) have done

JMAT : At this moment, now, right now URFE IIAI THRTS preset continuous
tense 1 27 | Tense 09 wh question I interrogative IR SO : wh question +
aml/is/are + sub + verb + ing + extension + question mark | STOATE, S8
expression 0 X&7 are you doing |

85) Would you mind me a cup of tea?

vl
2
3
4

giving
bring
make
bringing

S~— N N N



A : Mind - 99 *R ing T verb 36| (R &) I8 GF@ bring O[T giving 12 ing I
verb - A3 T4 giving TT IYmY|

86) frgst ABC 13 TR fage| B2k AB 13 AC IR MG P B @PITARR S¥eie
PO?

1) :»0°
2) bo°
v 3)R80°
4)00°

QAT ; ST TSR B QT TP R8T (PR F1d 120° | Q41 7D 7= IR0 311 202 013
7D IR I TCHNT A | BT (PITIII TFTE 120° + 120° = 240° |

87) 1od T [icapol afts 21fey T :¢ T 7 @8 I Afo 2 I @v BT i R e
XTOPLT PO 1o AJ?

1) Sv%
v 2)5%%
3) 8%
4) 8%

AT 2 > ST FEAR FAFEN ¢ TIPT
""" (EXR) = o TR

AT = QY - @O = Y T
S2TORAT 1O = (UxY00)/¢0
=5%

88) x2-3x, x2-9, x2-4x+3 JosNiafes IR STHS FO AI?

v 1)x-3
2) x-4
3) x+3
4) x-1

AT ST AT = x2 - 3x = X (X - 3)
WAR=x2 - 9 = (x + 3) (x - 3)
OY AI=X2 - 4x + 3
=X%2-3X-X+ 3
=x(x-3)-1(x-3)
=(x-3)(x-1)

S Y =x-3



89) The phrase ‘at loggerheads’ means-

1
2
v 3
4

belligerent
very close
quarreling
distant relation

~— N N S

AN : at loggerheads= R (quarreling)

90) The word 'Homely’ is—
1) Verb
2)
3) Adverb
v 4) Adjective

T : Home (noun), Homely ( adjective).

91) AT ATTH" QP PART APPT

) SIS
) e
)
)

N —

v

ot

IO

A W

AN = SR QTS - T, I 5 - PR3, 2ROW 55 - AfSd 5 2R ¥RF - IS |

92) (PTCAT JOBR WLBTC ABfeAfG @I -

AT+ PICAT OB AKBTC TBATID PRI

93) It is high time we (change) our food habit. Here the correct form of verb

is
vl
2

3
4

changed

have changed
should change
should have changed

N— N N N



I : It is high time YTPET AWK UL 27 sub ABKE sub - U9 9 verb - Q< past form
K0 | 37041 change - U9 past form changed *[d31d I |

94) 9p2+14p A3 Y IS QI5T I QISP QPTT F5T 5 AN A2

v 1) 49/9
2) 14/9
3)7/3
4) 7

T4 1 9P2 + 14P

= (3P)? + 2.3P(7/3) + (7/3)? - (7/3)
= {3p + (7/3)}?- (7/3)?

AR (7/3)2 = 49/9 5T IO XA |

95) "3BT (BT BT SIORT I6T?

T 2 DO - (BT TS {2 (TP D LT SO BT AT - BT | AT
HIXOR AT FATAT PR > AT TN, (TG SeToTd SRS o TS *TMC2A
ATSFIIEA(>0DO - 580> TABH) TP - (S PIT 61 PR | X2 FTA ST RGNS TS
T TAP IR DOIP - (ST T T PIT I6 1 I | O TET R 6, <R SRR,
(STIETTS STPTQETZ, SIHP W] QR FIRPY IR SCEITST |

96) (T SHICH AIANE A AT AP ?

79
TRIATOR

1)
)

3) IR
)

N

v 4) IHRY

AT = QAT [RCT I1 RCWTORTT 21t ey Kooy 1 ROTTORTE 90| ST 23 Q772
AT A3 AT A AORIIT 2, OIP PHITKY T 0T | (T - Al T 9 = drevomg, [T
T fofd3 Sad = T8 S, §21d @ df< = S99 |

97) QI T dTd-
1) fzzrs



AT : OACHA TR ATS-Fora

TR AT |

AT - HLTF WK WIRKTG \3 TR TA- Q3%
TR - TR JaR 19 |

98) Choose the correct sentence :

1) | know what does he wants?

2) | know what does he want?

3) | know what does he want.
v 4) | know what he wants.

I : Correct: | know what he wants. ( ofa Sifd @ =5 577)

99) “ITGRI TS TG FAR”—.Q I IS TS 1?2

1) AT PO
2) UG PO
v 3) B5IR PO
4) freg o1

AT+ PICAT IS (@ FC0T FHT Q@ 0T TR T 5Mmd IR, BICR W62 IGT I | (T -
TG - TSR TAGI3, BRSO ATNF | I - FXF 97 TN T IR |

100) x? - x - 6 = 0 SRR FeTa -

1) 3,2
v 32)3, -2

3)-3,2

4) -3, -2

I :x2 -x-6=0
or, X2 - 3x+2x - 6 =0
or, X (x-3)+2 (x-3)=0
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